ANSWER THE FOLLOWING QUESTIONS: Turn in this page with your lab report.

ANSWER THE FOLLOWING QUESTIONS: Be sure to turn this page in.         NAME: ______________________________

4. The run 1000 ns command should have caused the simulation to run for 1000 ns. How long did the simulation actually run? __20__ ns. Note: you may have to zoom in.

5. How did you determine this time? 

6. Examine the “list” window and answer the following questions.

1. Delta times show intermediate values for each simulation time. Fill in the table below for the value of Yout and Xin at 0 ns.

	ns
	delta
	tb/yout
	tb/xin

	0
	+0
	UUUUUUUU
	0000

	0
	+1
	0000UUUU
	1000

	0
	+2
	1111UUUU
	1000

	0
	+3
	1111UUUU
	1000


2. What is the value of tb/iyout at 0 ns delta +0? __-128_

3. Why did iyout assume this initial value?

Since iyout is not initialized at startup iyout assumes it’s left most value. Since CN = 8. The leftmost value is -127.
4. What is the value of tb/iones at 0 ns delta +0? _-2147483648_

5. Why did iones assume this initial value?

Iones is not initialized and the range is not restricted; therefore, the left most value that can be assumed by an integer is the initial value. 
7. Undock and examine the variable in the Locals window. What is the final value of “cnt” when the program crashed? __5___

8. Examine the cnt1s architecture and find where cnt is declared.

What is the type of cnt? i.e. byte, std_locic_vector, integer, etc. ________

9. What is the range of  “cnt”. _0_ to _4_.

10. Examine the generic for entity cnt1s. What is the default value for N? _32_

11. Examine U1 in tb_lab1.vhd and determine what value is actually used for N. _4_

Since the cM = 4 is passed in as a generic for N the maximum value of cnt.

12. Did the program crash because cnt went out of range? _YES_

